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static void USARTO _ErrorClear( void ) 51 51 static void USARTO ErrorClear( void ) Al
{ 52 52 {
uint32_t dummyData = 0U; 53 53 uint3Z_t dummyData = 0U;
54 54
if ((USARTO_REGS->US CSR & (US_CSR_USART_OVRE Msk | US_CSR_USART PARE Msk | US_CSR USART_FI 5% 55 if ((USARIO_REGS->US_CSR & (US_CSR_USART_OVRE Msk | US_CSR_USART_PARE Msk | US_CSR_USAR
{ 56 56 {
xC . 57 57 * Cl gs * =
USARTO_REGS->US_CR = US_CR_USART_RSTSTA Msk: 58 58 USARTO_REGS->US_CR = US_CR_USART_RSTSTA_Msk:
58 59
* Flush om the RX 1,0 B 60 €0 Flush existing rb from the R} FO *
while ((USARTO_REGS->US_CSR & US_CSR_USART_RXRDY Msk) != 0U) 61 61 while ((USARTO_REGS->US_CSR & US_CSR_USART_RXRDY Msk) != OU)
{ €2 62 {
dummyData = USARTO_REGS->US_RHR & US_RHR_RXCHR Msk: €3 63 dummyData = USARTO_REGS->US_RHR & US_RHR_RXCER Msk:
} €4 €4 }
} 65 €5 }
66 €6
Ig e the wa 67 €7
(void) dummyData; 68 €8
} et 5
70 70
71 71
volatile static USART OBJECT usart0Cbj; 72 72
73 73
static void _ attribute_ ((used)) USARTO_ISR RX Handler( void ) 74 74
{ 75 75
uint32_t rxData = 0U; 76 76 |volatile static USART_OBJECT usart0Cbj;
uint8_t* pusData = (uint8_t *)usartOCbj.rxBuffer: 77 77
uintlé_t* puléData = (uintlé_t*)usartOObj.rxBuffer:; 78 78 static void __attribute_ ((used)) USARTO_ISR RX Handler( void )
79 79 {
if (usart0Obj.rxBusyStatus == true) 80 80 t32_t rxData = QU
{ 81 81 * puBData = ( *)usart00bj.rxBuffer;
size_t rxSize = usart00bj.rxSize: 82 82 t* puléData = _t*)usart0Cbj.rxBuffer;
size_t rxProcessedSize = usartOObj.rxProcessedSize; 83 83
84 84 if (usart00bj.rxBusyStatus == true)
while ( ( (USARTO_REGS->US_CSR & US_CSR_USART RXRDY Msk) != 0U) && (rxSize > rxProcessed: 835 85 i
{ 86 86 size_t rxSize = usart00bj.rxSize;
rxData = (USARTO_REGS->US_RHR & US_RHR RXCHR Msk):; 87 87 size_t rxProcessedSize = usart00Obj.rxProcessedSize;
if ((USARTO_REGS->US MR & US_MR_USART_MODES_Msk) != 0U) 88 88
{ 89 89 while (( (USARTO_REGS->US_CSR & US_CSR_USART_RXRDY Msk) != QU) && (rxSize > rxProces
puléData[rxProcessedSize] = (uintlé t)rxData:; S0 90 { v
< > 91 g1 |< >



